

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-54500-6751f6049a90f

VERIFY.FTGS.US Date: December 05, 2024

Port of Loading Transport Type Seller (Exporter) Los Angeles Sundari LLC 5445 Oceanus Drive **Destination Country Destination Port Huntington Beach** China Hong Kong USA Exporting Carrier **Export Date** 2024-11-11 Consignee Bethe Co., Limited Import Permit Number Bill of Lading / AWB DD116. Lot 1036 S00197269 Yau Tin Yuen Long, NT Owner or Agent Forwarding Agent Hong Kong Accelerated Global Solutions Inc.

Buyer (Importer) Bethe Co., Limited UNIT 83 3/F YAU LEE CENTER NO.45 HOI YUEN ROAD KWUN TONG KL Hong Kong

Remarks PO#25-1 **TOTAL BOXES:70 TOTAL PALLETS:2** DIMS 48x40x37 IN x 1 DIMS 48x40x36 IN x 1 TOTAL WEIGHT: 1363 LBS.



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
CANDLE; 23 BOXES	See Remarks	United States
ESSENTIAL OIL; 2 BOXES	See Remarks	United States
NIGHTTIME NOURISHING OIL; 2 BOXES	See Remarks	United States
CHAMOMILE EYE OIL; 7 BOXES	See Remarks	United States
GOTU KOLA AND YUCCA FACIAL SERUM; OMEGA 3+ AND ALGAE DAY SERUM; NEEM HAND &	See Remarks	United States
CUTICLE TREATMENT; 1 BOX NEEM AND COPPER REPAIRING CREAM CLEANSER; 1 BOX	See Remarks	United States
NEEM NIGHT CREAM; 5 BOXES	See Remarks	United States
NEEM EYE CREAM; NEEM AND GREEN TEA CLEANSING MASK; 2 BOXES	See Remarks	United States
OMEGA 3 AND MANDARIN LIP TREATMENT; 2 BOXES	See Remarks	United States
BRIGHTENING GLOW TURMERIC OIL; 2 BOXES	See Remarks	United States
GOTU KOLA AND LOTUS BODY OIL; 3 BOXES	See Remarks	United States
LOTUS OIL HAND & CUTICLE TREATMENT; 3 BOXES	See Remarks	United States
GOTU KOLA AND WALNUT BODY EXFOLIATOR; 2 BOXES	See Remarks	United States



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-54500-6751f6049a90f

VERIFY.FTGS.US Date: December 05, 2024

Port of Loading Transport Type Seller (Exporter) Air Los Angeles Sundari LLC 5445 Oceanus Drive **Destination Country Destination Port Huntington Beach** China Hong Kong USA **Export Date** Exporting Carrier 2024-11-11 Consignee Bethe Co., Limited Import Permit Number Bill of Lading / AWB DD116. Lot 1036 S00197269 Yau Tin Yuen Long, NT Owner or Agent Forwarding Agent Hong Kong Accelerated Global Solutions Inc.

Buyer (Importer) Bethe Co., Limited UNIT 83 3/F YAU LEE CENTER NO.45 HOI YUEN ROAD KWUN TONG KL Hong Kong

Remarks PO#25-1 **TOTAL BOXES:70 TOTAL PALLETS:2** DIMS 48x40x37 IN x 1 DIMS 48x40x36 IN x 1 TOTAL WEIGHT: 1363 LBS.



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
NEEM AND TRIPHALA BODY OIL; 3 BOXES	See Remarks	United States
NEEM HAND & CUTICLE TREATMENT; 1 BOX	See Remarks	United States
A STATE OF THE STA		
CERTIFICATE OF ORIGIN Accredited Chamber US2100201		
May 10th		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



COMMERCIAL INVOICE								
		REFERENCE	CURRENCY	INCO TERMS	DATE			
		10149	USD	EXW	11/11/202			
SHIPPER / EXPORTER	CONSIGNEE							
SUNDARI LLC	Bethe Co. Li	Bethe Co. Limited						
5445 Oceanus Dr. Ste 106B	DD116 Lot 1	DD116 Lot 1036, Yau Tin						
Huntington Beach, CA 92649	Yuen Long (I	Yuen Long (Prospect Wealth Logistics Ltd)						
United States of America	N.T., Hong K	ong SAR						
Tel +1 562 435 5000	8675528511	385						
COUNTRY OF ULTIMATE DESTINATION	IMPORTER (IF E	IFFERENT FROM	CONSIGNEE)					
CHINA	Bethe Co. Li	mited						
COUNTRY OF MANUFACTURE	Unit 83 3/F Y	'au Lee Center	r					
UNITED STATES OF AMERICA	No.45 Hoi Y	uen Road Kwเ	ın Tong					
INTERNATIONAL AIRWAY BILL NUMBER	Kowloon, Ho	ng Kong SAR						
S00197269 (PO#25-1)								
FULL DESCRIPTION OF GOODS	SKU	ML/G	UNITS	UNIT VALUE	TOTAL VALUE			
ESSENTIAL OIL for Dry Skin	20001	15	144	24.00	\$3,456.0			
ESSENTIAL OIL for Normal/Comb Skin	20002	15	192	24.00	\$4,608.0			
NIGHTTIME NOURISHING OIL for Dry & Normal/Comb Skin	40002	15	204	58.34	\$11,901.3			
CHAMOMILE EYE OIL for All Skin Types	50001	10	1956	20.00	\$39,120.0			
GOTU KOLA AND YUCCA FACIAL SERUM for All Skin Types	60047	15	36	20.67	\$744.1			
NEEM AND COPPER REPAIRING CREAM CLEANSER for Dry Skin	60017	200	36	16.67	\$600.1			
NEEM NIGHT CREAM for All Skin Types	40001	50	192	24.67	\$4,736.6			
NEEM EYE CREAM for All Skin Types	50002	15	48	20.67	\$992.1			
NEEM AND GREEN TEA CLEANSING MASK for All Skin Types	60003	80	96	19.67	\$1,888.3			
OMEGA 3+ AND ALGAE DAY SERUM for Dry Skin	60044	15	96	20.67	\$1,984.3			
OMEGA 3 AND MANDARIN LIP TREATMENT (to be ordered in multiples of 12)	60048	12	432	4.80	\$2,073.6			
BRIGHTENING GLOW TURMERIC OIL for All Skin Types	20004	30	144	16.67	\$2,400.4			
GOTU KOLA AND LOTUS BODY OIL	90038	100	192	16.67				
				1	\$3,200.6			
LOTUS HAND AND CUTICLE TREATMENT	90049	10	504	5.40	\$2,721.6			
GOTU KOLA AND WALNUT BODY EXFOLIATOR	91029	198	36	16.67	\$600.1			
NEEM AND TRIPHALA BODY OIL	90039	100	192	16.67	\$3,200.6			
NEEM HAND AND CUTICLE TREATMENT	90048	10	192	5.40	\$1,036.8			
NEEM AND COCONUT HAIR TREATMENT OIL	90043	100	96	16.67	\$1,600.3			
NEEM AND EUCALYPTUS COOLING SCALP OIL	90070	100	96	16.67	\$1,600.3			
CANDLE - CHAMELI	70017	170	48	15.40	\$739.2			
TOTAL NUMBER OF PACKAGES		1		SUB TOTAL	, -			
2 pallets:		LESS 30% DISCOUNT \$ (26,761.43)						
1. 48x40x37 in		LESS 5% REIMBURSEMENT 60048, 90043 \$ (128.59						
2. 48x40x36 in	LES	LESS RETROSPECTIVE REIMBURSEMENT \$ (1,386.15						
Total weight 1363 lbs			Less Sample	s Order Value	. , ,			
TOTAL INVOICE VALU					\$ 58,976.09			

SIGNATURE OF SHIPPER / EXPORTER

Rahul Koul







PACKING SLIP							
		REFERENCE	CURRENCY	INCO TERMS	DATE		
		10149		EXW	11/8/2024		
SHIPPER / EXPORTER	CONSIGNEE	10143	035	LXVV	11/0/202		
SUNDARI LLC	Bethe Co. Li	mited					
5445 Oceanus Dr. Ste 106B		DD116 Lot 1036, Yau Tin					
Huntington Beach, CA 92649		Yuen Long (Prospect Wealth Logistics Ltd)					
United States of America		N.T., Hong Kong SAR					
Tel +1 562 435 5000	_	8675528511385					
FULL DESCRIPTION OF GOODS	SKU	UNITS	PALLET	LOT	BEST BEFORE		
ESSENTIAL OIL for Dry Skin	20001	144	1	AQ8EW	Feb-27		
ESSENTIAL OIL for Normal/Comb Skin	20001	192	1	AQ8EW	Feb-27		
NIGHTTIME NOURISHING OIL for Dry & Normal/Comb Skin	40002	204	1	AS3EW	Jul-27		
CHAMOMILE EYE OIL for All Skin Types	50001	1956	2	CM1EJ	Aug-27		
GOTU KOLA AND YUCCA FACIAL SERUM for All Skin Types	60047	36	2	AR2EG	Mar-27		
NEEM AND COPPER REPAIRING CREAM CLEANSER for Dry Skin	60017	36	2	BK4EW	Aug-27		
NEEM NIGHT CREAM for All Skin Types	40001	192	1	BK4EW	Aug-27		
NEEM EYE CREAM for All Skin Types	50002	48	2	AK4EW	Jan-27		
NEEM AND GREEN TEA CLEANSING MASK for All Skin Types	60003	96	2	CAICP	Nov-26		
OMEGA 3+ AND ALGAE DAY SERUM for Dry Skin	60044	96	2	AK6EW	Jan-27		
OMEGA 3 AND MANDARIN LIP TREATMENT (to be ordered in multiples of 12)	60048	2004	1	BM5EG	May-27		
BRIGHTENING GLOW TURMERIC OIL for All Skin Types	20004	144	1	AK4EW	Jan-27		
GOTU KOLA AND LOTUS BODY OIL	90038	192	1	AK5EW	Jan-27		
LOTUS HAND AND CUTICLE TREATMENT (to be ordered in multiples of 12)	90049	504	2	BL2EJ	Apr-27		
GOTU KOLA AND WALNUT BODY EXFOLIATOR	91029	36	2	BU5EP	Aug-27		
NEEM AND TRIPHALA BODY OIL	90039	192	1	AK5EW	Jan-27		
NEEM HAND AND CUTICLE TREATMENT (to be ordered in multiples of 12)	90048	192	2	BK8EJ	Apr-27		
NEEM AND COCONUT HAIR TREATMENT OIL	90043	96	1	AK5EW	Jan-27		
NEEM AND EUCALYPTUS COOLING SCALP OIL	90070	96	1	AK5EW	Jan-27		
CANDLE - CHAMELI	70017	48	2	73122/	Sep-26		
				2408238			
TOTAL NUMBER OF PACKAGES							
2 pallets							



